WILDRIDGE,

PURVEYORS OF QUALITY POLY FURNITURE

330-893-4212 » www.wildridge.com

CLASSIC MISSION BENCH

ASSEMBLY INSTRUCTIONS

LCC-225

&

Step 1

On a soft surface, position the backrest (A) and the seat (B) together.
Fasten them together on the side, by tapping (1) 1/4”x 2" bolt thru
the bottom hole on the side support, then add (1) 1/4" flange nut.
Repeat on the other side of the bench.

C D
Required Tools: Hardware: Parts:
- Mallet/Non -(2) 1/4"x 2" Bolts A = (1) Backrest
Marring Hammer - (8) 1/4"Flange B =(1) Seat
(F%;gé’é ‘ﬁ:mMnféar; Nuts C = (1) Right Arm/Leg
_Cordless Drill -(2)1/4"x31/4” Assembly
- #2 Square Drive Bolts D = (1) Left Arm/Leg
Bit -(4)1/4"x31/2" Assembly
-7/16“ Wrench or Bolts E = (1) Stretcher
Socket - (2) 4" Screws F=(1)11/2"x53/4"
-(4) 1 1/4” Screws Connector Block
[

(1) 1/4"x3 1/4"
(1) 1/4"x3 1/2"

.

Step 2

Position the right arm/leg assembly (C) into position onto the side
of the bench as shown and attach it to the backrest and the seat
by tapping (1) 1/4"x3 1/4” bolt thru the hole by the armrest and
through backrest, and (1) 1/4"x3 1/2" bolt through each of the two
legs and through the seat. Add (1) 1/4”flange nut to all three bolts.
Repeat with left arm/leg assembly (D) on the other side of the bench.

Step 3

Stand bench upright, place (E) stretcher (with metal framing facing

down) against the center leg support that’s in between both leg

assemblies, center it and attach with (2) 4” screws, one on each end.
©2021



WILDRIDGE ASSEMBLY INSTRUCTIONS

PURVEYORS OF QUALITY POLY FURNITUR CLASSIC MISSION BENCH LCC—225
330-893-4212 « www.wildridge.com

NLLLIE;

Step 4
To fasten the center seat support

to the backrest on the rear of

the bench, place the connector
block (F), in place as shown above.
Using (4) 1-1/4" screws, fasten the
connector block to the backrest and
the center seat support, with two
going into the top and two going
into the bottom as pictured right.

Step 4
Your bench is now complete.

Thank you for purchasing from Wildridge.

© 2021



